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1 Which division sentence does this diagram show?

A 72  4 = 18 R0
B 72  18 = 4 R0
C 74  4 = 16 R2
D 74  4 = 18 R2

2 To find 91  4, Jerry first divided the tens into 4 equal groups. What should Jerry do next?

A Divide the ones.
B Trade the extra 10 for 10 ones.
C Trade one group of circled tens for ones.
D Nothing; he is finished.
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3 A group of friends are playing a board game. As part of the game, each player is given the
same number of cards. There are 6 players and 58 cards. How many cards will each
player get if each player gets the same number of cards?

A Each player will get 10 cards. There will be 0 cards left over.
B Each player will get 8 cards. There will be 10 cards left over.
C Each player will get 9 cards. There will be 3 cards left over.
D Each player will get 9 cards. There will be 4 cards left over.

4 Juan has a jug with 64 ounces of juice. He has a set of glasses. When full, each glass
holds 7 ounces. How many glasses of juice can Juan fill?

A Juan can fill 9 glasses. There will be 1 ounce left over.
B Juan can fill 9 glasses. There will be 0 ounces left over.
C Juan can fill 8 glasses. There will be 8 ounces left over.
D Juan can fill 10 glasses. There will be 6 ounces left over.
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5 A group of friends are playing a board game. As part of the game, each player is given the
same number of cards. There are 7 players and 44 cards. How many cards will each
player get if each player gets the same number of cards?

A Each player will get 8 cards. There will be 0 cards left over.
B Each player will get 7 cards. There will be 0 cards left over.
C Each player will get 6 cards. There will be 6 cards left over.
D Each player will get 6 cards. There will be 2 cards left over.

6 Which division sentence does this diagram show?

A 68  2 = 34 R1
B 68  34 = 2 R1
C 69  2 = 34 R1
D 69  2 = 34

______________________________________________________________________________________________
Copyright  Pearson Education, Inc. or its affiliates. All Rights Reserved. Page 3 of 4



Division Topic 10 3 
______________________________________________________________________________

 

 

7 Which number sentence does this diagram show?

A 69  3 = 23 R2
B 71  3 = 23
C 71  3 = 23 R2
D 71  3 = 32 R3

8 Alicia is making tile-topped tables. Alicia has a box of 77 tiles. Each table will have 9 tiles.
What is the greatest number of tile-topped tables Alicia can make?

A Alicia can make 8 tables. There will be 6 tiles left over.
B Alicia can make 8 tables. There will be 5 tiles left over.
C Alicia can make 9 tables. There will be 0 tiles left over.
D Alicia can make 7 tables. There will be 14 tiles left over.
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